P 2L d https://lwww.pass2lead.com/jn0-348.htm]
ass ea 2024 Latest pass2lead JN0-348 PDF and VCE dumps Download

https://Pass2Lead.com

JINO-34895As

Enterprise Routing and Switching, Specialist

Pass Juniper JNO-348 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/|n0-348.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

JNO0-348 VCE Dumps | JN0-348 Exam Questions | IN0-348 Braindumps 1/3


https://www.pass2lead.com/jn0-348.html
https://www.pass2lead.com/jn0-348.html
https://www.pass2lead.com/jn0-348.html

P 2L d https://lwww.pass2lead.com/jn0-348.htm]
aSS ea 2024 Latest pass2lead JN0-348 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Which two situations would cause dynamic ARP inspection to drop traffic? (Choose two.)
A. if no IP-to-MAC address entry exists in the DHCP snooping database

B. if the IP address in the ARP packet is deemed invalid

C. if the requested MAC address exceeds the configured limit on the port

D. if the ARP packet comes from a port that has been configured as trusted

Correct Answer: AB

QUESTION 2

You have a conference room with an open network port that is used by employees to connect to the network. You are
concerned about rogue switches being connected to this port.

Which two features should you enable on your switch to limit access to this port? (Choose two.)
A. DHCP snooping

B. dynamic ARP inspection

C. MAC limiting

D. 802.1X

Correct Answer:. AB

QUESTION 3

You want to advertise only a default route into a new area, which will be called area 7. In this scenario, which
configuration statement would solve this problem?

A. user@host# set protocols ospf area 0.0.0.7 nssa default-Isa default-metric 10
B. user@host# set protocols ospf area 0.0.0.7 stub no-summaries

C. user@host# set protocols ospf area 0.0.0.7 stub default-metric 10

D. user@host# set protocols ospf area 0.0.0.7 stub

Correct Answer: A

QUESTION 4

How many bytes of overhead are added to a packet traversing a GRE tunnel?
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A. 20
B. 24
C.12
D. 16

Correct Answer: B

QUESTION 5

What are two characteristics of IS-IS CSNPs? (Choose two.)

A. IS-IS CSNPs contain header information for all link-state PDUSs.

B. IS-IS CSNPs are used to request a copy of a missing link state PDU.

C. IS-IS CSNPs are used to maintain the link-state database synchronization.

D. IS-IS CSNPs contain header information for specific requested link-state PDUs.

Correct Answer: AC
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